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Find Pairs of Values 2

la, Which pair of values does nol salisly
the equalion?

a+h=3
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1b. Which pair of values does nol salishy
he equalion?

hxi=24
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2a. Use the nembers in the lable o find
all the possible combinalicns for the two
vanables below,

Hh. Use the numberns in the lable bo find
all the possible combinaions for the hwo
variables balow,

a-b=5 | | d+ve=18 |
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Ja. Work out the values of b ond c.
a=8
d+b=17
C+hmld
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Ib. Work oul the wolees of @ and ¢,
b=t

bxa=18
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da, List Ihree possible values for @ and b,
where ¢ = 18,

[2u+b-c]

4b. List heee possible values for ¢ and d,
where ¢ = 12,

[c-id-e]




